12.1 Sample Space and Probability K{T)I v -'|I

List the possible outcomes for the situation ,)

1. tossing a coin three times " <
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2. spinning a spinner twice that contains four equally likely ©

colors—blue, red, yellow, and green
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3. spinning the spinner mentioned in Exercise 2 followed by
tossing a coin
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In an experiment, three coins are flipped.
List the possible outcomes in the sample space of the experiment.




12.1 Sample Space and Probability

List the possible outcomes in the sample space of the experiment.
A

a. One six-sided die i> 1uncu.
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b. Two six-sided dice are rolled.
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In an experiment, a spinner is spun.

a. How many ways can you spin a 1? 27 3?7 47 57
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b. List the sample space. \ (AL‘
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c. What is the total number of outcomes?
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12.1 Sample Space and Probability

In an experiment, a bag
contains 2 blue marbles and 5 red marbles. Two

marbles are drawn from the bag.

a. How many ways can you choose two blue? a red

then blue? a blue then red? two red?
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b. List the sample space.

c. What is the total number of outcomes?
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Find the number of possible outcomes in the sample space. Then
list the possible outcomes.

1. You flip two coins.
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2. You flip two coins and roll a six-sided die.
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12.1 Sample Space and Probability

Probability is the measure of how likely an event
is to occur. Probabilities are written as fractions
or decimals from 0 to 1 or as percents from 0% to

100%.

Each possible result of a probability experiment
or situation is called an outcome.

The sample space is the set of all possible
outcomes.

An event is an outcome or a set of outcomes.

Equally likely outcomes have the same chance of
occuring.

Favorable outcomes are outcomes for a specified
event. (ex: rolling a 3, rolling an even number,
rolling a number other than 2, etc.)

The theoretical probability of an event is the
ratio of the number of favorable outcomes to the
total number of outcomes. (Probability it
SHOULD happen)

P(event) = number of favorable outcomes
VY umber of outcomes in the sample space




12.1 Sample Space and Probability

P(rolling a 3) = —é-

P(rolling a number less than 4) = % - —

A student taking a quiz randomly guesses the answers to four
true-false questions.

What is the probability of the student guessing exactly two correct
answers”?
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12.1 Sample Space and Probability

The complement of event E, is the set of all
outcomes NOT in event E.

PA)+PA)=1 or PA)=1-PA)

P(not rolling a 3) = —2—

When two six-sided dice are rolled, there 8] - N - N - ) - R - REE
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are 36 possible outcomes, as shown. Find RO CR BB O O
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b. The sum is less than or equal to 9.




12.1 Sample Space and Probability

O

1. If you roll two dice, what is the probability that

the sum of the two dice willbe 4. 3 [
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2. What is the probability that the sum 15 7?
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3. What is the probability that the g)ifference is 67
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4. What 1s the probability that the sum 1s

greater than 17
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You throw a dart at the board shown. Your dart is equally likely to
hit any point inside the square board. Are you more likely to get
10 points or 0 points?
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12.1 Sample Space and Probability

3. You flip a coin and roll a six-sided die. What is the probability
that the coin shows tails and the die shows 47?

Find P(A).

4. P(A) = 0.45 5. P(A) = %
("0!4{%:(0‘63 (~ !\
6. P(A) = 1 7. P(A) = 0.03
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8. In Example 4, are you more Ilkely to get 10 pomts or 5 points?
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9. In Example 4, are you more likely to score points (10, 5, or 2)
or get 0 points?
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Each section of the spinner shown has the same area. The
spinner was spun 20 times. The table shows the results. For
which color is the experimental probability of stopping on

the color the same as the theoretical probability?

Spinner Results W\(ZOV , "P D (O = %

red | green | blue | yellow
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12.1 Sample Space and Probability

In the United States, a survey of 2184 adults ages 18 and
over found that 1328 of them have at least one pet. The
types of pets these adults have are shown in the figure.
What is the probability that a pet-owning adult chosen at
random has a dog?

U.S. Adults with Pets -
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10. In Example 5, for which color is the experimental probability of
stopping on the color greater than the theoretical probability?
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11. In Example 6, what is the probability that a pet-owning adult chosen
at random owns a fish?
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12.1 Sample Space and Probability

Homework

Pg. 672 #3 - 10, 13, 15 - 20, 22




